Section—-C 2x7=14
(Long Answer Type Questions)
Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.
Each question carries 7 marks.
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10. Describe possible wildlife management effort.

TN & Fereehio] & TEIfad JIEl shi THET |

11. What is Succession ? Describe the types of
succession in detail.
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12. Write a detailed note on the major biomes of the
world.

fova & yq@ Sam | & o@ fafen

13. Define Green House Effect. What are the causes
and effects on ozone layer depletion ? Explain it.
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Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.

et - 7' wea-wF ‘e, 9 SR | R mvel | fawifsa ®)
Y&F WIS h IR ¥ & IW ST |

Section—-A 7x1=7
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 1 mark.
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1. (1 Who is the father of ecology ?

SHICAST & SHF D T ?

(1)) What 1s Parasitism ? Give example.
TSTferr & ¥ ? S0 SIS |

(ii1) Define ecological niches. Define.
TRfeafar fea o & 2 aRwifea i

(iv) What is Synecology ?
gaififeafaent = & 2

(v) What do you mean by Red Data Book ?
T TR IF T ST F TESd 2

(vi) Write the name of different types of
radiation.

fafetor & fafs= woerl & = fafew)

(vii) What are the main cause of air pollution ?
g YU & A HRU FM ¥ ?
Section-B 4x3%=14
(Short Answer Type Questions)

Note -— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 3%z marks.
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. Draw a food chain of aquatic pond ecosystem with

biomass pyramid.
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. Differentiate between mutualism and

commensalism.

Tesitod @ HeWifsar # ${aR JIamsu |

. Discuss in brief Liebig’s law of minimum.

cfifert @1 =Faa &1 fom & d@fea § weemsy

. Explain the N, Nitrogen cycle.

eSO hl GHET |

. Describe Community Ecology.

e WRkfafant 1 T9eET

. Write short note on Agro forestry.

FH FfTept W A o fafem )

. Write an essay on primary aquatic adaptations.

Wafgd el ATHeAas W T o fafeu

. What are the effects on climate change due to the

different types of pollutions ? Explain it.
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